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Question ID : 8970322679
Status : Answered
Chosen Option : 2
Q2 Tsolator operates on conditions.

Ans 2 A Some times on load and sometimes ne load
#< B On load
' C No load
#< 0. Full load

Question ID : 8970322685
Status : Answered
Chosen Option : 1

Q.3 A 4 pole generator with 16 coils has two layer lap winding. The pole pitch is
Ans J A 8

X B

X c 16

<D 4

Question ID : 8970322648
Status : Answered
Chosen Option : 4

Q4 The air gap in sleeve bearing machines is checked by

Ans




« A Filler Gauges

# B. Dial indicator
/< C. Bearing puller
#< D. Spirit level

Question ID : 8970322677
Status : Answered
Chosen Option: 3

Q5 Natural air cooling is used for transformer of rating up to:
Ans  of A 5-10 KVA
#8200 kKVA

X C. 300 kVA
< D. 50 MVA

Question ID : 8970322653
Status : Answered
Chosen Option : 3

Q6 The minority carriers in P-type of semiconductors are:
Ans X A. Holes and electrons

# B holes

/< c. protons

«' D eglectrons

Question ID : 8970322734
Status : Answered
Chosen Option : 4
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Question ID : 8970322676
Status : Answered
Chosen Option : 1

@8 A synchronous motor will deliver maximum power when:
Ans o A Load angle is equal to internal angle

/< B. Load angle is 45°




/< C. Load angle is 0°
#< 0. Input power factor is unity

Question ID : 8970322606
Status : Answered
Chosen Option : 4

Q9 In case of transformer Buchholz relay is used to protect from
Ans 3 A High voltage surges

#< B. Overload faults

« ¢ Incipient faults

# 0. Earth faults

Question ID : 8970322683
Status : Answered
Chosen Option : 3
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Question ID : 8970322715
Status : Answered
Chosen Option : 2
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Question ID : 8970322669
Status : Answered
Chosen Option: 1

Q12 Ballistic test are used in magnetic measurements for:
Ans X A Determination of hysteresis loop of the specimen only

e

Determination of flux density. magnetizing force and B-H curve and hysteresis loop of the specimen

/< . Finding out iron losses in the specimen




/< D. Determination of B-H curve of the specimen only

Question ID : 8970322743
Status : Answered
Chosen Option : 2

Q13 For a medium transmission line, the parameter A is
Ans % A equal to B

W & equalto D

#< C. not equal to D

/< D. equalto C

Question ID : 8970322617
Status : Answered
Chosen Option : 2

Q14 The commutator pitch for simplex wave winding is equal to
Ans X A half pitch

« & average pitch

/< c. full pitch

/< D. quarter pitch

Question ID : 8970322651
Status : Answered
Chosen Option : 1

Q.15 is a protective device which conducts the high voltage surges on the power system to the ground.
Ans X A Fuse
#< B. Relay

/< C. Circuit breaker
« 0. Lightning arrester

Question ID : 8970322618
Status : Answered
Chosen Option : 4

Q.16 The information to be made available for certain heavy purchases through the newspaper is called:
Ans & A Guideline

#< B. Terms and condition

#< ¢ Purchased notice

' 0. Tender Notice

Question ID : 8970322672
Status : Answered
Chosen Option : 4
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Question ID : 8970322654
Status : Answered
Chosen Option : 4

Q.18

Ans 3 A. More than two
#< B. More than unity

+ C Less than unity
#< D. More than five

Relative permeability of diamagnetic material is slightly:

Question ID : 8970322737
Status : Answered
Chosen Option : 3
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Ans 3 A

Inverse Distance maximum Time Relay (S=a% g ffwasm =7 o)

v 4}

Inverse Definite Minimum Time Relay (z=a@ :f%fae @Faw azg @)

X c

Inverse Distance Minimum Time Relay (3==¢ ff=w faaw o7 i)

< D.

Inverse Definite Maximum time Relay (3=a% 2o AfFama o=x @)

Question ID : 8970322695
Status : Answered
Chosen Option : 3

Q20 Half adder is a logic circuit that accepts
Ans X A Three

v B Two

#< C. Four

#< D. Five

single bit inputs.

Question ID : 8970322726
Status : Answered
Chosen Option: 2




Q21 The Net Present value is greater than zero means
Ans X A Damage the Proposal

+ B Accept the Proposal

/< C. Return the Proposal

7< D. Reject the proposal

Question ID : 8970322702
Status : Not Answered
Chosen Option : --

Q22 The distribution substation mounted on a utility pole is called as:

Ans  of A Pole mounted substation

/< B. Underground substation

/< C. Foundation mounted substation
#< D. Open substation

Question ID : 8970322671
Status : Answered
Chosen Option : 1
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Question ID : 8970322627
Status : Answered
Chosen Option: 1

Q.24 is used in protocols for detection of transmission errors.

Ans X A Modifiers
& B Internal Address
o’ ¢. Cyclic redundancy code

#< D. Special code

Question ID : 8970322716
Status : Answered
Chosen Option : 2
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Question ID : 8970322644
Status : Answered
Chosen Option: 1

Q26 Which of the following insulator is selected for HV application
Ans ' A Suspension type

#< B. Disc type

/< C. Pin type

# 0. Strain type

Question ID : 8970322693
Status : Answered
Chosen Option : 2

Q27 Natural draught in a steam power plant is produced by .
Ans o A Chimneys

#< 8. Fans

#< C. Steam jets

#< D. Mechanical system

Question ID : 8970322624
Status : Answered
Chosen Option : 3

Q.28 ;13'_ ﬁ?‘: %_:
Ans X A AND,NOR 3tz NOT a1
v & AND,OR 3T NOT gate

< C AND 3T NOT ¥
#< 0> OR 3 NOT @i

Question ID : 8970322721
Status : Answered
Chosen Option : 2

Q.29 In scott connections. the teaser transformer operates on 0.866 of its rated
Ans X A Inductance




/< B. Capacitance
# ¢. Reactance
« 0. Voltage

Question ID : 8970322650
Status : Answered
Chosen Option : 4

Q.30 Which type of Energy storage is only large scale storage method in use at present:
Ans 3 A. Mechanical energy storage
7< B. Storage in compressed gas
/< . Kinetic energy storage

« 0. Potential energy storage in pumped hydro

Question ID : 8970322699
Status : Answered
Chosen Option : 4
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Question ID : 8970322714
Status : Answered
Chosen Option: 1

Q32 From the following option identify correct symbol for the flood light.

Ans




Question ID : 8970322638
Status : Answered
Chosen Option : 4

Q33 Which of the following instrument has the same calibration in AC and DC.
Ans X A Induction type

< B Moving iron type

o' C. Electro- dynamometer type

< D. Moving coil type

Question ID : 8970322739
Status : Answered
Chosen Option: 3

@34 YWhen transmission voltage is increased, the line losses are:
Ans X A half

#< B increased

& C. same

W 0. decreased

Question ID : 8970322611
Status : Answered
Chosen Option : 4

Q35 If their is break in the continuity of the circuit it is called as
Ans o A Open circuit

#< B. Load circuit

# C. Short circuit




X 0. Ground fault

Question ID : 8970322680
Status : Answered
Chosen Option : 4

Q36 A unipolar logic family uses only devices.
Ans X A SCR

& B JFET

v c. MOSFET

« 0. BIT

Question ID : 8970322724
Status : Answered
Chosen Option : 1

Q.37 The quality of coal generally received by cement plants in the country has an ash content in the range of .

Ans 5 A 80 - 90 percent
#< B. 100 percent
W c. 30 - 40 percent
#< D. 90 percent

Question ID : 8970322703
Status : Answered
Chosen Option : 4
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Question ID : 8970322640
Status : Answered
Chosen Option : 3

Q39 Which instrument is the cheapest disregarding the accuracy?
Ans o A Moving Iron

X B. PMMC

#< C. Electrodynamometer

# 0. Rectifier

Question ID : 8970322740
Status : Answered
Chosen Option : 4




Q40 A K map of 3 variables contains cells.

Ans JA- 8

< B
xcé
<09
Question ID : 8970322725
Status : Answered
Chosen Option : 4
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Question ID : 8970322607
Status : Answered
Chosen Option : 4
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Question ID : 8970322745
Status : Answered
Chosen Option : 1
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Question ID : 8970322705
Status : Answered
Chosen Option : 2
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Question ID : 8970322608
Status : Answered
Chosen Option: 3

Q.45 1In 3-phase induction motor, one phase is blown. To protect the motor from this condition

Ans % A Relay preventer
/< B. Distance relay
' c. Single phase preventer
#< D. Differential relay

is used.

Question ID : 8970322692
Status : Answered
Chosen Option : 3
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Question ID : 8970322730
Status : Answered
Chosen Option : 4

Q.47 InPVC water proof cable method wire is stretched from service pole to eye screw bolt fixed into wall.

Ans XA 0 SWG GI
< B. 15 SWG GI
W C 8SWGGI
& 0. 100 SWG GI

Question ID : 8970322668
Status : Answered
Chosen Option : 3

Q.48 Inad'Arsonval galvanometer, an iron core is usually used between the permanent magnet pole faces. This is used so

that:

Ans 3 A The effect of stray magnetic field is reduced

/< B. Moment of inertia of moving parts become smaller

#< c. Cost of production is reduced




o

Flux density in the air gap becomes high thereby a large deflecting torque is produced

Question ID : 8970322750
Status : Answered
Chosen Option : 4

Q49 Field devices are connected to modules for interfacing purpose.
Ans o A Input

& B RTD

W ¢ Output

#< b Encoder

Question ID : 8970322712
Status : Answered
Chosen Option : 3
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Question ID : 8970322749
Status : Answered
Chosen Option : 3
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Question ID : 8970322633
Status : Answered
Chosen Option : 1

Q.52




Schmitt trigger exhibits ~ effect.
Ans ' A Hysteresis
< B Hall
# C. Accelerator
#< 0. Tllumination

Question ID : 8970322728
Status : Answered
Chosen Option : 3

Q53 The time to open the circuit breaker contact is calledas .
Ans X A Closing time

« & Opening time

< c. Operating time

# D. Circuit breaker time

Question ID : 8970322687
Status : Answered
Chosen Option : 3
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Question ID : 8970322658
Status : Answered
Chosen Option : 2

Q.55

In a cable voltage stress is maximum:
Ans B A At the surface of the insulator
#< B. At the surface of the armouring

/< C. At the surface of the sheath
o D At the surface of the conductor

Question ID : 8970322614
Status : Answered
Chosen Option : 4

Q56 The regulation of an alternator is given as

Ans E i N

A.
x 3




Question ID : 8970322605
Status : Answered
Chosen Option : 3

Q.57

Ans

Insulation resistance is measured in:

& A Milli ohm

#< B. Ohm meter
# C. Micro ohm
+' 0. Mega ohm

Q.58

Ans

Question ID : 8970322736
Status : Answered
Chosen Option : 4

—

is a protective device that discharges excess voltage surges to earth.

< A Isolater
o B. Surge Arrester

/< C. Relay
/< D. Circuit Breaker

Question ID : 8970322690
Status : Answered
Chosen Option : 2

Q.59 The principle of operation of Ajax Wyatt Furnace is that of transformer in which is replace by closed loop of

Ans

molten metal.
/< A Primary turns
X B. Core
' C Secondary turns

7< D. plates

Question ID : 8970322655
Status : Answered
Chosen Option: 3

Q.60 As per Solar water heater shall meet the performance/ minimum efficiency level mentioned in:

Ans

K< A IS 139
& B. IS 3129
v IS 13129




< D IS 1329

Question ID : 8970322667
Status : Not Answered
Chosen Option : --
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Question ID : 8970322688
Status : Answered
Chosen Option: 1

Q62 PT.C has become popular. because it performs

Ans 3 A Data transfer

+ & Timing and counting

#< C. logical
/< D. analog

functions.

Question ID : 8970322713
Status : Answered
Chosen Option : 2

Q63 The Joad factor is defined as the ratio of:
Ans 3 A Maximum peak load to average load

# B Total load to minimum load
W C Average load to the maximum load

#< D. Minimum load to total load

Question ID : 8970322698
Status : Answered
Chosen Option : 4
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Question ID : 8970322659
Status : Answered
Chosen Option: 2




L

Q.65 A fuse is a safety device used for the purpose of protecting a circuit against

Ans

/< A Under current
#< B. Leakage current
'f C. Excess current

#< D. Under voltage

Question ID : 8970322632
Status : Answered
Chosen Option : 3

Q66 Which of the following is the source of emission of electrons in a CRT?

Ans

#< A Accelerating Anode

v B A barium and strontium oxide coated cathode
& c LED

< 0. Tunnel diode

Question ID : 8970322744
Status : Answered
Chosen Option : 2
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Ans

v 16
X5 4
Xcg
X0 32

Question ID : 8970322720
Status : Answered
Chosen Option: 1

Q68 T oad factor of a power station is generally

Ans

< A Zero
#< B. More than unity

' C. Less than unity
< D unity

Question ID : 8970322623
Status : Answered
Chosen Option: 3

Q.69 In which method we can calculate net annual return as percentage of capital investment.

Ans

7< A Net percent value method
+ 8. Return on investment method




< C. Cost benefit method
7< D. Payback method

Question ID : 8970322697
Status : Answered
Chosen Option : 3
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Question ID : 8970322649
Status : Answered
Chosen Option : 2
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Question ID : 8970322629
Status : Answered
Chosen Option : 4

Q72 The silicon bilateral switch comprises:

Ans 2 A Two identical SES structures
+ B Two identical SUS structures
#< C. Two identical SCS structures
#< 0. Two asymmetrical SUS structures

Question ID : 8970322710
Status : Not Answered
Chosen Option : --

Q73 Series reactors are installed at strategic locations of power systems to:

Ans « A
bring down the fault level within the capacity of switchgear

/< B. directly pass the fault surges to ground

/< C. pass neutralizing surges of opposite nature




#< D. discharge the capacitors

Question ID : 8970322682
Status : Answered
Chosen Option: 2

Q74 The maximum possible short circuit current in fuse is called as

Ans o A Fusing peak current

/< B. Rated Current
7< C. Normal current
< D. Arc current

Question ID : 8970322684
Status : Answered
Chosen Option: 2
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Question ID : 8970322612
Status : Answered
Chosen Option : 1

Q76 To determine the continuity of the windings
Ans X" A Frequency Meter

# B Ammeter

«' ¢ Multimeter

#< D. Voltmeter

s used:

Question ID : 8970322675
Status : Answered
Chosen Option : 3

Q77 From the following figures identify long nose pliers.

Ans

<A 4'

e




Question ID : 8970322637
Status : Answered
Chosen Option : 2

Q.78 3051 9fiaw &1 F1E off HET FUHS F _ a@c ¥ T & IIAET A4 F e 2l
Ans o A B4K

# B 16K

< c 32K

/< 0. 8K

Question ID : 8970322719
Status : Not Answered
Chosen Option : --

Q79 Aluminium is made from:

Ans A Aluminium dioxide
& B Aluminium ferric oxide
v ¢ Aluminium oxide
X 0. Aluminium trioxide

Question ID : 8970322732
Status : Answered
Chosen Option : 1
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Question ID : 8970322639
Status : Answered
Chosen Option: 1
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Question ID : 8970322718
Status : Answered
Chosen Option : 4

Q82 1p electric motor is loss due to fans and the bearing friction.
Ans X A Tron loss
#< B Core loss

/< C. Stray loss

« 0. Friction and windage loss

Question ID : 8970322696
Status : Answered
Chosen Option : 4

Q.83 2013 ¥ fgge F&¥ T drisecgd F MM F 3N, o THFR F FR 7 T FTHET
=T =R

Ans 2 A 90 cm % 90 cm X 3 mm
# 8 60 cm x 60 cm ¥ 6 mm
W C 60 cm x 60 cm x 3 mm
#< D 90 cm % 90 cm % 6 mm

Question ID : 8970322641
Status : Answered
Chosen Option: 1

Q.84 An ability of Relay system to operate under predetermined condition is called
Ans X A Sensitivity

#< B. Selectivity

/< C. Stability

« 0. Reliability

Question ID : 8970322686
Status : Answered
Chosen Option: 1




¥ awor gETeye AftERE: g T

Ans XA' ‘ﬁ
&K B FAHIA
V' C grer 9T e

X 0 aTar

Question ID : 8970322619
Status : Answered
Chosen Option : 3

Q.86 Tp hold the lamp and connect it electrically to supply terminal  isused:
Ans o A Lamp holder

« 8 plug

#< C. switch

X D. Neutral link

Question ID : 8970322663
Status : Answered
Chosen Option : 1

Q.87 The full load slip of 60 Hz, 12 pole squitrel cage induction motor is 5%. Its full load speed is ;
Ans of 1\ 570 rpm

/< B. 475 rpm
7< c. 600 rpm
#< 0. 500 rpm

Question ID : 8970322604
Status : Answered
Chosen Option: 1
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Question ID : 8970322717
Status : Not Answered
Chosen Option : --
Q.89 Shunt capacitance in suspension insulators can be by the distance of conductor from tower.

Ans




/< A increased. increasing
+ & Decreased, increasing
/< C. increased, decreasing

#< D. Decreased, decreasing

Question ID : 8970322622
Status : Answered
Chosen Option : 2

Q90 Djelectric heating is used for heating:

Ans X A furnaces
#< B. Steel sheets
v C. Wood
#< D. Zinc cells

Question ID : 8970322735
Status : Answered
Chosen Option : 1
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Question ID : 8970322689
Status : Answered
Chosen Option : 2
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Question ID : 8970322626
Status : Not Answered
Chosen Option : --
Q.93

The thickness of transformer core laminations is
Ans o A 0.35 mm to 0.5 mm




#< B. 25 mm to 60 mm
< C 1.2 mm to 0.06 mm
7< 0. 2.5 mm to 4 mm

Question ID : 8970322647
Status : Answered
Chosen Option: 1

Q94 5 Rz AT H 11010 7 Beg gae AT d1 A= A H 0, OV F 3 1, +10 V ¥ AT wEw E, A
S HT3CYE Aot Rl

Ans XA +65 V
X B 6.5V
X c -8.125V
V0 +8.125V

Question ID : 8970322729
Status : Not Answered
Chosen Option : --

Q95 Frequency can be measured by using:
Ans % A Hay Bridge

7< B. Maxwell bridge

/< C. Wheatstone Bridge

« 0. Wiens Bridge

Question ID : 8970322742
Status : Answered
Chosen Option : 4

Q.96 n 3 wire DC system, the area of cross section of neutral is generally  of either outer.
Ans X A 1/4th

v & Half

& c. same

#< 0. Doubled

Question ID : 8970322620
Status : Answered
Chosen Option : 2

¥ VIR. ar & REga w9 2

Ans x/_\_
Varnished insulating rubber {EITﬁ'Qa $F\3?~Iﬁ'ﬂ )
/< B

Vulcanised inducting rubber (SehaTe<s SegiaeeT &)




X c Valuable Indian Rubber (Seguser 3f3aw @R)
v 0 Vulcanised Indian Rubber (Feaasss 3E3aa @)

Question ID : 8970322664
Status : Answered
Chosen Option : 4

Q98 Ppresence of ozone owing to corona

Ans o A Improves the environment
#< B. Improves power factor
#< c. Improves regulation
#< D. Corrodes the material

Question ID : 8970322616
Status : Answered
Chosen Option : 1

Q.99 The insulation resistance of motor shall be measured between

Ans X A. Winding to rotor
+ 5. Windings of machine and its frame
/< c. Between two windings
< p. Winding and direct earth

by using megger.

Question ID : 8970322678
Status : Answered
Chosen Option : 4

Q100 The number of valency electrons inindium material is:

Ans X A four
W 8 three
&< ¢ Two
#< D five

Question ID : 8970322733
Status : Answered
Chosen Option : 1

Q.1071 The ratio of maximum demand on generating station to the Installed capacity of plant gives:

Ans X A Load factor
#< B. Operating factor

' ¢ Utilization factor
#< D. Capacity factor

Question ID : 8970322657




Status : Answered
Chosen Option : 3

Q.102 The window type air conditioner is an example of _ type Air conditioner.
Ans X A Axial type

#< B. Unitary central type

' ¢ Unitary type

#< D. Central type
Question ID : 8970322662
Status : Answered
Chosen Option : 3
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Question ID : 8970322738
Status : Answered
Chosen Option : 3
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Question ID : 8970322691
Status : Answered
Chosen Option : 4
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Question ID : 8970322727
Status : Answered
Chosen Option : 3

.106 According to CPWD guidelines on electrical work 2013, Exhaust fans for installation in corrosive atmosphere, shall be
g g P
painted with:

Ans % A. Cement based paint
+ & special PVC paint or chlorinated rubber paint.
/< c. distemper
#< D. White wash
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Q107 gynchronous speed of an induction motor is

Ans X A Directly proportional to flux
« & Inversely proportional to number of poles
/< c. Directly proportional to number of poles
/< D. Inversely proportional to frequency
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V5 g T
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Q109 nfechanical efficiency of a diesel engine is defined as
Ans o A BHP = IHP

/< B. BHP x IHP

X c. IHP - BHP

« 0. IHP + BHP
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Q.114 is the mean of candle power in all directions in all planes.

Ans 3 A Mean zero candle power
« 8 Mean spherical candle power
#< C. Mean vertical candle power

#< D. Mean horizontal candle power
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Q115 potentiometer is basically a type instrument.
Ans & A. Electrostatic

# B. Thermal

v ¢ Null

7< D. Magnetostatic
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Q116 Nfagnetizing Component of no load current is
Ans 3 A lags behind the applied current by 65°
« & lags behind the applied voltage by 90°
X c. leads the applied current by 150°
#< D. in line with applied current
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Q119 The PN junction can be named as:
Ans X A Triode

# B Tetrode

#< C. Pentode

+ 0. Diode
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Q120 primary winding of a transformer is
Ans o A connected to the supply mains
< B. always low voltage winding
#< C. connected to the load
#< 0. always high voltage winding
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G AR T 3qeROT & A T TR FaT 2
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Q122 11 induction motor, the short circuit test is a

Ans  of A Blocked rotor
/< B. Stator resistance

#< C. Open circuit

test.




#< D. No-load
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Q123 The rate of flow of luminous energy is given as:
Ans X A Light energy

#< B. Light intensity

/< C. Luminous intensity

+ 0. Luminous flux
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Q.124 50 sfrer ot gfEE Fam A g AT B0 FH F B AT A A F PwaE _ Fwm
Ans XA 95 3NH

< B 80

v'c 50 3|

X 0 40 3NH
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Q.127 The ratio of sum of maximum demand of separate consumers to maximum demand of the station is given by

Ans X A Load factor
/< B. Utility factor

« C Diversity factor
#< 0. Peak factor
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Q.128 %HT ﬁ_ ﬁlé %i

e o n e e
# B ST vaTE
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X o 3t
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M e AR T T F TR F =T TR

Ans X A 35 cm
# B 35m
vc35m
/0 35 mm
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Q.130 we gray Tow v & 7 192,000kWh #T REga S 3c9ea &aT ¢, 3T S o X 20,000kWh #,
g oE o & =

3HRT

Ans X A 0.004
v 5 040
X c 0.04
X040
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Q131 Dyring the retrace time, electrons move from

of screen.




Ans o A Right to Left
#< B. Top to Bottom
/< C. Left to Right
/< D. Bottom to Top
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Q132 A switch is used to the electric circuit.
Ans X A Make

#< 8. Break

& C on

' D Make or break
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@13 ymoaer gy F T oA gee @ Ngea T S
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Q135 A relay used for protection of motors against overload is:




Ans X A Impedance relay

/< B. Inverse time over voltage relay
/< ¢. Buchholz's relay.

' 0. Thermal over current relay
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Q.136 The effect of leading power factor on the voltage regulation of an alternator is
Ans o A Decreasing in nature

/< B. Growing in nature

#< C. Stable in nature/ value

/< D. Remain in the same value
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Q.137 The fusing factor is the ratio of .
Ans  of A Minimum fusing current / current rating of fusing element

/< B. Minimum fusing current/ maximum fusing current
/< ¢ maximum fusing current /Minimum fusing current

#< b. Rated fusing current /minimum fusing current
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Q138 In single phase induction motor

Ans % A. Both main and auxiliary windings are placed on rotor
< B.
Main winding is placed on rotor and auxiliary winding on stator
+ ¢. Both main and auxiliary windings are placed on stator
< D
Main winding is placed on stator and auxiliary winding on rotor
Question ID : 8970322609
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Q.139

device is used as triggering device for SCR.

Ans XA SCS
v's UIT




K ¢ GTO

X 0. IGBT
Question ID : 8970322706
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Q.140 Ip aluminium industry process is used to obtain aluminium from bauxite.

Ans X A Alumina process
/< B. Extrusion process
#< c. Hall hercoult process
' 0. Bayer process
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Q141 Demand Factor of a power station is defined as
Ans o A Maximum demand/connected load
#< B. Maximum demand/ Average load

# C. Connected load/maximum demand
< D. Average load/ Maximum demand
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12 2§ SR AET T T & 9 9T gar 2
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Q.143 The schematic connections of the circuit for a specific task in the simplest form is
Ans X A Wiring diagram
+ & Circuit diagram
#< c. Layout diagram
/< D. Installation diagram

Question ID : 8970322636
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Q144 WWard Leonard control is basically a Control method.
Ans XA field

#< B. armature resistance
« C armature voltage

7< D. field diverter
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Q145 In design of underground cables the Mode of installation determines:
Ans X A Rating of cable to be used
+ & Type of cable to be used

< C. Size of cable to be used
#< D. Temperature of cable to be used
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Q146 The power factor on which an alternator operates depends upon
Ans o A Nature of load being supplisd

/< B. Copper losses

# C. Armature losses

#< D. speed od prime mover
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Q147 The insulators used in guy cables are
Ans X A Disc type insulator
/< B. Pin type insulators

#< ¢ Shackle insulator
« 0. Stay insulator
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Q148 n Electrical Machine if loose commutator bars are present it will set up:




Ans

< A electricity
' & eccentricity
/< ¢. humidity
/< D. conmectivity
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Ans

Q149 The back EMF of the DC motor is to speed.

#< A Square

« & Directly proportional
/< c. Inversely proportional
#< D. Not equal
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Ans

/< A Square of Armature current
« & Square of flux

/< C. Stator current
#< D. Terminal voltage

Q150 The torque developed by an induction motor is proportional to
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Q.13 HugeR 2AETEe! # UAT gHaret CAPTCHA (dvean) ohr aredd # gof aref g2
Ans x A. Control Automated Public Turing test to tell Computers and Humans Apart.

x B. Completely Automated Portal Turing test to tell Computers and Humans Apart.
x C. Completely Apprehensive Public Turing test to tell Computer and Humans Apart.

“ D. Completely Automated Public Turing test to tell Computers.and Humans Apart.
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Q17 Venn diagram that best represents the given set of classes:
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Q.20 Select the option that is related to the third word in the same way as the second word is
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K B. War
x C. Cellar
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